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yperconjugation there is o

verlap be .
i) p- and n-orbitals (B) e atwnan

2 1 - orbitals

ich of the following cannot exhibit hyperconjugation -

CH3(.3H2 (B) CHa\é +
CH,~<H (C) CH,CH =CH, (D) (CH3);C~CH,

(C) d-and-n-orbtial (D) o -and p - orbitals

4 ich of the following alkenes wil| show maximum number of hyperconjugation forms ?

CH,
.= CH. (B) CH,~CH=CH, (C)CH~CH,-CH=CH, (D) CH,~CH-CH=CH,
Arrange the stability of following
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[AY1 < 11 <11l B)ll << (C)l<lll<ll (D)l <<l
t order of heat of hydrogenation in following compound is :

() (1) (i) (IV)
[<II<IV < (B)II<IV<II<I (C)II<HI<I<IV (D) <IV<I<II
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C-CH-CH=CH, does notinvolve :
—p overlap (B) o—o overlap (C) pn—pn overlap (D) pn—dn overlap
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=CH-CH=CH
H,CH=CH- cl- CH, (D) CH, = CH :




